
Easter According to Revelation 5 

 

I. God is worthy of _______________________. 

 

 

II. No one is _______________________ of God. 

 

 

III. Jesus Christ is ______________________. 

a. Because Jesus has ___________________. 

i. Who: 

 

ii. How: 

 

iii. So, Jesus is worthy to _________________. 

 

 

b. Because Jesus has ___________________. 

i. Who: 

 

ii. How: 

 

iii. So, Jesus is worthy of _________________. 

 

IV. Who will stand? 

a. Only those who _______________ in and 

________________ the risen Lamb. 
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